REDH BREBIERDH EERDE
o 000000 0000000

HERIRET ERER A

BERRX

wakaki@hiroshima-u.ac.jp
http://home.hiroshima-u.ac.jp/ wakaki/lecture/index.shtml

2019.4.17

1/16



RENT REERD M

000000

BREDM
BEBETIV

BEERD®
EE
vagislOk L

EERDH
EFE

pakislOkEH ;3

EERDE
0000000

2/16



RENT BRAESRLHE EERDH

BREDT
BEFETIV
Z/Z:CK—Fﬁ.TZ—i—SZ (Z: 177N)

y; - BRIEE
z; © GREAZE
£ 1 BRE

2. Varlg;] = E[¢7] = o?

3. i#j = Covlg;,e;] =E[gig;] =0

a,B,0° ICET BHBDHICIE, BE &, DDHEABE

BEDDHELT, BAEWL (BW) L0EFALEWV
= BEIERDH, t-0%
BREDAMELT, ERAREOEMALEWL
= EFRSH
3/16



REDH BEERDH EERDE

o] @00000 0000000

1.2. BEERLH

4/16



EERDH
0000000

BAERDH

0@0000

REDH

e
EFx

flesh @) = (1= a)(a) + To(x/A) (>0, a€[0,1])
ICE > TEXDEMENHZ, 1 RITESERDHE L,
CN(\, ) &R
DHDELDERDHZRBEL o TRELDHICE ST
W3,

5/16



REDH REERDH EERDH
o]

2% DM

1L BBERAMIZ 0 ZHODICEERHRIMTHY,
a=0,1DA=1DEETFERTMELD.

——CN(1/2,1/2) ——CN(2,0)
- — -CN(1,172) — — —CN(2,1/5)
0.8 CN(2,1/2) CN(2,1/2)
) 0.6 R
2 o
) \
Q04 PEaEN B\
// N N ',‘\\
0.2 N7 NN
s L S
B s <4
0
-3 -2 -1 0 1 2 3 1 2 3

6/16



REDH

AEOBE (E2)

2. X ~ CN(\,a) DE X,

BAERDH EERDE
000800 0000000

E[X] =0, Var[X] =1 — a + a\?
3a(l —a)(A\? —1)2
(1 —a+ ar?)?

53:07 Rqg =

FEHEYDE—XA VK

B 0 (r &)
YT U x3x o x(r=D(1—a+aN) (r dYBHK)
a=(1+N)"t es<L,

Fas) = Tos(o) + 5ot/

ERD. ESIC, ) N=1BSIEEBEERSHTHS.

A oo EFTBE, k= 0,X 5 N0,1) &3,
7/16



REDH REERDH EERDH

DHOFFE ()

3. X ~ CN(\, ) DREHERISE
Cit)=(1-a) exp(—%ﬁ) + @exp(—%ﬂ)\?) (t € R)

A EBREE: 20,72, % N0,1), U~U(0,1) &L,
Zy, 2o, U I$IRILET 3.

X = {1 - 1Lw<a} } 21 + Ly<a} A 22,

1 (U<a)
l<ay = {0 (U > «)

55, X ~CN(\a) £,

8/16



REDH REERDH EERDH
o]

L iR— hRERE T

BEERDTICH D BEREROD, T15, 28, EE, RE, ¥
BEAYDrRE—XV M5BT L. EL, ERDHOR
MBI THBE LTEELTRL.

9/16



REDH BRAESRLHE EERDH

o] 000000 ®000000

1.3. EIFESH

10/ 16



RENTH BRAESRLHE EIERD

ooooooooooooo

O i

o 2
EFx

FeR B R
f(@;A) = 20(2)®(Ax) (A € R)

I > TEXZEMENME, EEHRDHEE L, SN(N) &

=7.

flz\) DHERBERRICA>TWVWSZ &, UTOERIC

FWREIND.

EIE1.3.1 f(2) ZHREXBEREY, F(z) 2Z02HEAHET
3. f BMBREABTHNIE 2f (2)F(\x) ISHERZERRE 125

11/16



REDH BRAESRLHE EERDH

c . ooococo . 0080000

B 1A 7

£ 1.3.2

X ~ flo) (FEEBERE) YV ~g(y) (BEEERE ,
XY ML ET2. ZDEE, Z=X+Y OBERBERBHK
h(z) &

e = [ " = w)gl)dy

12/16



BAERDHE EIERD
0008000

2% DM

1. EERDHEE—MRICHERBLD2HBTHY, A=0DEE
&, ERDMELD. T, A =— too DEEIFHFIER
DHERD.

000000

0.4 :
——SN(0)
0.35F - = =SN(1) {
) - - SN(2)
03t N SN
N\
0.25} Sl
> - ~
5 7id N
g o2r 7 &
a 7 N
0.15 ‘ A
3 v ! AN
) \;
0.1F , [ : \\
s ,\\
L .
0.05 L Sl
0 L == s =3 - 1 L —
-3 -2 -1 0 1 2 3
X

13/16



RENM BAERDHE EIERD
o 000000 0000800
Y =+
DEDOFE ()
A

2. X~ SNAN DEE, = —— B &
) V1+ A2

ELX] = \/g(s, Var[X] =1 24

™

K3 = V2(4 — W)sign(/\){)\—Q)/\z}S/Qy

T+ (m—2

Ky = 8(m — 3){#2—2))\2}27

. V204 —m)
oo 3T (= 2)327 ahee T (- 2)2
ANERESLTH, BEEPRERZZENEFERECARDL
RN,
14 /16



REDH BRAESRLHE EERDH

DHOFFE ()

3. X ~ SN()\) DO¥FIEREEIE

1 2 [IVIER
C(t) :exp(—§t2){1+i\/;/0 e /Qdu} (t € R)

sign(\)
X = AR
m( 1 ’ 2|)

EEBE, X ~SN(\) £ B,

15 /16



REDH BRAESRLHE EERDH

o] 000000 [slelelelele] }

L iR— b ERE2

EERDWICH O BREROTHE pE st BT L.

16 /16



